












G
EN

ER
AL

 N
O

TE
S 

AN
D

 L
EG

EN
D

S001
AS INDICATED

2

DRAWN

DESIGN

SCALE:

ISSUE DATE:

APPROVED

CHECKED

APPROVAL

AP
PD

DE
SI

GN
CH

KD
DR

W
N

R
EV

IS
IO

N
S

N
O

.
D

AT
E

REV.JOB No.

DWG. NO.

\P
R

O
JE

C
TS

\9
10

0\
91

27
 P

or
t o

f P
as

co
 C

an
op

ie
s\

D
W

G
\9

12
70

0S
00

1.
dw

g 
-  

O
ct

 2
9,

 2
02

4-
1:

30
 p

m
 - 

Ka
itl

yn
n 

C
 L

ew
is

12 W. Kennewick Ave.
Kennewick, WA 99336

P: 509.735.1589
F: 509.783.5075

www.meierinc.com

ARCHITECTURE   ENGINEERING

PO
R

T 
O

F 
PA

SC
O

TY
PI

C
AL

 W
AR

EH
O

U
SE

 C
AN

O
PY

BI
G

 P
AS

C
O

 IN
D

U
ST

R
IA

L 
C

EN
TE

R

 

9127
07/07/2023

GENERAL NOTES

1. ALL CONSTRUCTION SHALL BE IN ACCORDANCE WITH THE 2021 EDITION OF THE INTERNATIONAL
BUILDING CODE (IBC) AND LOCAL RULES/STANDARDS OF GOVERNING AGENCIES HAVING
JURISDICTION.

2. THE CONTRACTOR SHALL PERFORM ALL WORK IN ACCORDANCE WITH THE CONSTRUCTION
DRAWINGS.

3. ANY ERRORS, AMBIGUITIES, AND OMISSION IN DRAWINGS SHALL BE REPORTED TO THE ENGINEER OF
RECORD FOR CORRECTION BEFORE ANY PART OF THE WORK IS STARTED.  SUBSTITUTION OR 
CHANGES WILL NOT BE ACCEPTED UNLESS APPROVED IN WRITING.

4. CONTRACTOR IS RESPONSIBLE FOR VERIFICATION OF SITE CONDITIONS, INSTALLATION STANDARDS
AND CONSTRUCTION CONDITIONS. CONTRACTOR SHALL FIELD VERIFY ALL DIMENSIONS PRIOR TO
SHOP FABRICATION AND/OR FIELD ERECTION. WORK DONE WITHOUT THE ENGINEERS APPROVAL IS
THE RESPONSIBILITY OF THE CONTRACTOR.

5. CONTRACTOR IS TO PROVIDE A METHOD OF CONSTRUCTION WHICH WILL ALLOW FOR OWNER TO
REMAIN OPERATIONAL THROUGHOUT CONSTRUCTION WITH AS LITTLE DISRUPTION AS POSSIBLE.

6. PROTECTION OF EXISTING STRUCTURES DURING THE COURSE OF THE CONSTRUCTION SHALL BE
THE RESPONSIBILITY OF THE GENERAL CONTRACTOR.

7. ALL SPECIAL INSPECTION AND TESTING SHALL BE PERFORMED BY AN INDEPENDENT INSPECTION
AND TESTING AGENCY HIRED BY THE OWNER. CONTRACTOR TO COORDINATE WITH INSPECTION AND
TESTING AGENCY FOR REQUIRED CONSTRUCTION INSPECTIONS AND MATERIAL TESTING.

8. THE STRUCTURAL INTEGRITY OF THIS STRUCTURE IS DESIGNED TO BE ATTAINED IN IT'S COMPLETED
STATE.  WHILE UNDER CONSTRUCTION, ALL TEMPORARY BRACING AND/OR SHORING REQUIRED TO
MAINTAIN STABILITY PRIOR TO COMPLETION SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR,
INCLUDING DESIGN AND INSTALLATION.

9. DESIGN CRITERIA (PER 2021 IBC AND ASCE 7-16)

13.1 RISK CATEGORY II

13.2 VERTICAL LOADS:

A. DEAD LOADS:
CANOPY 20 PSF

B. LIVE LOADS (IBC 1607):
ROOF LIVE LOAD 20 PSF

C. SNOW LOADS:
GROUND SNOW LOAD Pg=20 PSF
MINIMUM UNIFORM ROOF SNOW LOAD Pm=20 PSF
SNOW EXPOSURE FACTOR: Ce=1.0
SNOW LOAD IMPORTANCE FACTOR: Is=1.0
THERMAL FACTOR: Ct=1.2
SLOPE FACTOR Cs=1.0
FLAT ROOF SNOW LOAD Pf= 21.8 PSF

D. ROOF RAIN LOAD DATA:
RAIN INTENSITY 1" PER HOUR

13.3 LATERAL LOADS:

A. WIND DESIGN LOAD DATA:
VELOCITY (3-SEC.-GUST) V (ULT) = 110 MPH / V (ASD) = 85 MPH
EXPOSURE C
INTERNAL PRESSURE COEFFICIENT ±0.18
COMPONENTS AND CLADDING DESIGN WIND FORCES (IBC 1603.1.4)
WALLS ULTIMATE ALLOWABLE
   10 SF -40.8 PSF -24.4 PSF
   500 SF -25.3 PSF -15.2 PSF
CANOPY
   LOWER SURFACE -18.2 PSF -10.9 PSF
   UPPER SURFACE -16.9 PSF -10.2 PSF

B. SEISMIC DESIGN LOAD DATA:
IMPORTANCE FACTOR 1.00
RHO (N-S) 1.0
RHO (E-W) 1.0
MAPPED SPECTRAL RESPONSE ACCELERATIONS:

Ss = 0.402
S1 = 0.152

SEISMIC SITE CLASS D
DESIGN SPECTRAL RESPONSE COEFFICIENTS:

Sds = 0.397
Sd1 = 0.233

SEISMIC DESIGN CATEGORY D
SEISMIC FORCE RESISTING SYSTEM AND RESPONSE MODIFICATION FACTOR:

NON STRUCTURAL WALL ELEMENT R = 2.5

SEISMIC RESPONSE COEFFICIENT
Cs 0.336

DESIGN BASE SHEAR 0.336W
ANALYSIS PROCEDURE:
EQUIVALENT LATERAL FORCE PER ASCE 7-16, 12.8

STEEL

1. STRUCTURAL STEEL MATERIALS SHALL CONFORM TO THE FOLLOWING ASTM SPECIFICATIONS:
A. ALL W SHAPES SHALL CONFORM TO A992 (50 KSI)
B. ALL PLATES, CHANNELS, ANGLES, BARS, RODS, AND FLATS SHALL CONFORM TO A36 (36 KSI)
C. ALL HOLLOW STRUCTURAL SECTIONS (HSS) SHALL CONFORM TO A500, GRADE C 50 KSI

2. ALL DETAILING, FABRICATION, AND ERECTION OF STRUCTURAL STEEL SHALL COMPLY WITH THE
REQUIREMENTS OF THE AISC 360-16 SPECIFICATION FOR STRUCTURAL STEEL BUILDINGS AND
AISC 341-16 SEISMIC PROVISIONS FOR STRUCTURAL STEEL BUILDINGS FOR LATERAL FORCE
RESISTING SYSTEM.

3. ALL BOLTED CONNECTIONS SHALL BE MADE WITH HIGH STRENGTH BOLTS (A325) UNLESS
OTHERWISE NOTED ON THE DRAWING. BOLTED CONNECTIONS SHALL BE "SNUG TIGHT".

4. BOLT HOLES SHALL BE BOLT DIAMETER + 1/16". BOLT END AND EDGE DISTANCES AND BOLT
LENGTHS SHALL BE PER AISC, UNLESS NOTED OTHERWISE. BASE PLATE BOLT HOLES MAY BE
OVERSIZED BY 1/8".

5. HOLES IN THE BASE MATERIAL SHALL NOT BE ENLARGED BY BURNING.

6. ALL WELDING SHALL BE PERFORMED IN ACCORDANCE WITH THE SPECIFICATIONS AND
PROCEDURES OF THE AMERICAN WELDING SOCIETY BY AWS CERTIFIED WELDERS AND SHALL
CONFORM TO AWS D1.1:2020. WELDERS PERFORMING THE WORK SHALL HAVE BEEN RE-TESTED
WITHIN 6 MONTHS PRIOR TO THE START OF STEEL FABRICATION.  WELDING FOR STRUCTURAL
STEEL SHALL BE MADE WITH E70XX LOW HYDROGEN ELECTRODES. WELDING  ON MAIN FORCE
RESISTING SYSTEM AS INDICATED ON PLANS SHALL ALSO CONFORM TO AWS D1.8:2016 WITH
WELDERS CERTIFIED TO AWS D1.8

7. FIELD WELDING SYMBOLS HAVE NOT NECESSARILY BEEN INDICATED ON THE DRAWINGS.  IT IS
THE CONTRACTOR'S RESPONSIBILITY TO COORDINATE THE USE OF SHOP AND FIELD WELDING.

8. ENDS OF HOLLOW STRUCTURAL SECTION COLUMNS AND EXPOSED MEMBERS SHALL HAVE 3/16"
CAP PLATES AND SEAL WELDS ALL ROUND.

9. HOLES SHALL NOT BE CUT THROUGH BEAMS UNLESS INDICATED OR PRE-APPROVED BY THE
ENGINEER OF RECORD IN WRITING.

10. PRIME ALL FERROUS METALS FOR EXTERIOR EXPOSURE.

13. ALL BOLTS IN WOOD MEMBERS EXCEPT AT FOUNDATION SHALL CONFORM TO ASTM A307.
PROVIDE WASHERS UNDER THE HEADS AND NUTS OF ALL BOLTS AND LAG SCREWS BEARING ON
WOOD.

METAL ROOFING AND SOFFIT PANELS

1. DECK SHEETS SHALL BE CONTINUOUS OVER A MINIMUM OF TWO SPANS.

2. METAL ROOF DECK SHALL BE 24 GAUGE CLIP-LOC STANDING SEAM METAL ROOFING AS
MANUFACTURED BY METAL SALES OR APPROVED EQUAL. PROVIDE FLASHING TO MATCH COLOR
AND ROOFING PROFILE. SHEETS SHALL BE CONTINUOUS OVER A MINIMUM OF TWO SPANS.
FY=50KSI.

3. METAL SOFFIT PANEL SHALL BE 24GAx1" DEEP x12" WIDE SOFFIT PANEL AS MANUFACTURED BY
METAL SALES OR APPROVED EQUAL. PROVIDE FLASHING TO MATCH COLOR AND SOFFIT PROFILE.

LEGEND

ACI AMERICAN CONCRETE INSTITUTE

AESS ARCHITECTURALLY EXPOSED STRUCTURAL STEEL

AISC AMERICAN INSTITUTE OF STEEL CONSTRUCTION

APA AMERICAN PLYWOOD ASSOCIATION

ASTM AMERICAN SOCIETY FOR TESTING AND MATERIALS

AWC AMERICAN WOOD COUNCIL

AWS AMERICAN WELDING SOCIETY

C CHANNEL

C/C CENTER TO CENTER

CL CENTER LINE

d PENNY (NAIL)

DIA DIAMETER

DSL DRIFT SNOW LOAD

(E) EXISTING

EA EACH

ESR ENGINEERS SERVICE REPORT

FOC FACE OF CONCRETE

HSS HOLLOW STRUCTURAL SECTION

IBC INTERNATIONAL BUILDING CODE

ICC INTERNATIONAL CODE COUNCIL

KSI KIPS PER SQUARE INCH

L ANGLE

LB POUND; POUNDS

MAX MAXIMUM

MIN MINIMUM

NDS NATIONAL DESIGN SPECIFICATION

NFPA NORTHERN FOREST PRODUCTS ASSOCIATION

NTS NOT TO SCALE

PAF POWER ACTUATED FASTENER

PL PLATE

PSF POUNDS PER SQUARE FOOT

PSI POUNDS PER SQUARE INCH

REF REFERENCE

SL SNOW LOAD

STD STANDARD

TOD TOP OF DECK

TOS TOP OF STEEL

TYP TYPICAL

UNO UNLESS NOTED OTHERWISE

W WIDE FLANGE

DECK SPAN DIRECTION

CONCRETE - POST INSTALLED ANCHORS

1. SPECIAL INSPECTIONS ARE REQUIRED PER IBC CHAPTER 17.

2. ANCHORS SHALL BE INSTALLED IN CONCRETE THAT IS A MINIMUM OF 21 DAYS OR AS RECOMMENDED BY
THE MANUFACTURER.

3. SCREW ANCHORS SHALL CONFORM TO THE FOLLOWING:
A. SIMPSON STRONG TIE TITEN HD ANCHORS INSTALL PER ESR-2713

OR HILTI KH-EZ INSTALL PER ESR-3027
OR DEWALT SCREW-BOLT+ INSTALL PER ESR-3889

B. ANCHORS EXPOSED TO WEATHER SHALL BE STAINLESS STEEL OR GALVANIZED.

4. SUBSTITUTION OF MANUFACTURED PRODUCT IS NOT PERMITTED UNLESS APPROVED BY THE ENGINEER
OF RECORD IN WRITING.

STATEMENT OF SPECIAL INSPECTION

1. IN ACCORDANCE WITH THE 2021 IBC SECTION 1704.2, THE OWNER SHALL EMPLOY ONE OR MORE
APPROVED AGENCIES TO PERFORM INSPECTIONS DURING CONSTRUCTION ON THE TYPES OF
WORK AND AS SPECIFIED BELOW.  CONTRACTOR SHALL COORDINATE WITH INSPECTION AND
TESTING AGENCY(S) FOR REQUIRED CONSTRUCTION INSPECTIONS AND MATERIAL TESTING.
SPECIAL INSPECTION REPORTS SHALL BE SUBMITTED TO THE ARCHITECT/ENGINEER AND THE
AUTHORITY HAVING JURISDICTION WEEKLY FOR REVIEW.

2. STEEL:  BASED ON STRUCTURAL DESIGN, NO SPECIAL INSPECTION IS REQUIRED.

KCL 07/07/2023

KEJ 07/07/2023

JTS 07/07/2023

KEJ 07/07/2023

GUTTERS AND DOWNSPOUTS

1. GUTTERS SHALL BE MADE OF 0.027" ALUMINUM, TYPE 5K OR APPROVED. GUTTERS SHALL BE
FACTORY FINISHED WITH STANDARD COLORS SELECTED BY OWNER.

2. DOWNSPOUTS SHALL MATCH GUTTER MATERIALS AND COLORS.

2

C
O

N
ST

R
U

C
TI

O
N

 R
EV

IS
IO

N
S

1
7/

10
/2

4
KC

L
G

D
F

G
D

F
PM

G
PA

UL               M.               GIEVER

ST
ATE     OF     WASHINGTON

STRUCTUR A L   ENGINEER

PR
O

FESSIONAL    ENGIN
EE

R

28084

U
PD

AT
ED

 B
U

IL
D

IN
G

 C
O

D
E

2
10

/2
9/

24
KC

L
G

D
F

G
D

F
PM

G

2

2

2

1

2

AutoCAD SHX Text
10/29/24



(E) TRUSS

(E) PURLIN

(E) COLUMN

20'-0"

16
'-8

"

C10x15.3
A/S101

A/S501

(E
)

ROD BRACE ROD BRACE

C
10

x1
5.

3

GUTTER

W8x10

ROD BRACE

2x6 STUD WALL
BETWEEN COLUMNS

20'-0"

W8x10

W8x10

W8x10

W8x10

W8x10

W8x10

W8x10

W8x10

W8x10

C
10

x1
5.

3

C
10

x1
5.

3

C
10

x1
5.

3

C
10

x1
5.

3

C
10

x1
5.

3

3/4" ROD HORIZONTAL BRACE. FOR CANOPIES
MORE THAN (4) BAYS (80'-0" LONG), PROVIDE
ADDITIONAL BRACED BAYS AT NO MORE THAN
80'-0" C/C

C/S502
C/S502

B/S502

METAL
ROOFING

METAL
ROOFING

C8x11.5 C8x11.5

J/S502

L3x3x3/16 BRACE

PROVIDE FLANGE CLAMP TO BOTTOM
OF W8 WITH J-HOOK TO SUPPORT

ROD BRACE. PROVIDE J-HOOK SIZED
TO ACCEPT ROD BRACE

AT CORNER COLUMNS
SEE S503

(E) TRUSS

(E) BUILT-UP SUPPORT
POST TO REMAIN

(2) C10

C10

GUTTER 12

22
'-5

"+
/-

STANDING SEAM
METAL ROOF

6x12 PURLINS

3'-0"4'-0"4'-0"3'-6 1/2"10"

16'-8"

DOWNSPOUT

4" DIA. RAIN WATER LEADER
BETWEEN C10

3 1/2"

6/S501

10
'-9

"

12
'-2

"+
/-

1

1'-0"

1/S501

3/S501
4/S501

FINISH FLOOR

FACE OF STUD

12'-0"

7'
-8

"

1 1/4" STEEL ROD

TURNBUCKLE
WITH LOCK NUTS

C10x15.3

ROD BRACE
ROD BRACE

GUTTER

W8x10

20'-0"

B/S501

(E) TRUSS

(E) PURLIN

(E) COLUMN

16
'-8

"
(E

)

2x6 STUD WALL
BETWEEN COLUMNS

W8x10

W8x10

W8x10

W8x10

C
10

x1
5.

3

C
10

x1
5.

3

C
10

x1
5.

3

C
10

x1
5.

3

3/4" ROD
HORIZONTAL BRACE

B/S502

C/S502
C/S502

METAL
ROOFING

A/S101

C8x11.5

J/S502

F/S502

L3x3x3/16 BRACE

PROVIDE FLANGE CLAMP TO BOTTOM
OF W8 WITH J-HOOK TO SUPPORT

ROD BRACE. PROVIDE J-HOOK SIZED
TO ACCEPT ROD BRACE

AT CORNER COLUMNS
SEE S503

C10 EA SIDE
OF (E) COLUMN

C10

GUTTER 12

STANDING SEAM
METAL ROOF

1 1/4" STEEL ROD

3'-0"4'-0"4'-0"3'-6 1/2"10"

16'-8"

DOWNSPOUT

4" DIA. RAIN WATER LEADER
BETWEEN C10

3 1/2"

6/S501

10
'-9

"

12
'-2

"+
/-

1

8/S501

7/S501

(E) CONCRETE CORBEL

TURNBUCKLE
WITH LOCK NUTS

A/S502

7'
-8

"

FINISH FLOOR

1'-0"

12'-0"

FOC

STRUCTURAL LINE

1 1/4"

NEW BRACE

C
10

x1
5.

3

C
10

x1
5.

3

NEW BRACE

W8x10

W8x10

W8x10

W8x10

W8x10

W8x10

W8x10

W8x10

W8x10

W8x10

C10x15.3

(E) CONCRETE
CORBEL

(E) CONCRETE WALL

B/S101

(E) PURLIN

J/S502
C8x11.5 C8x11.5

PLAN MULTIPLE SPAN CANOPY
1/4" = 1'-0"

S101
AS INDICATED

1

  DRAWN

DESIGN

SCALE:

ISSUE DATE:

APPROVED

CHECKED

APPROVAL

AP
PD

DE
SI

GN
CH

KD
DR

W
N

R
EV

IS
IO

N
S

N
O

.
D

AT
E

REV.JOB No.

DWG. NO.

\P
R

O
JE

C
TS

\9
10

0\
91

27
 P

or
t o

f P
as

co
 C

an
op

ie
s\

D
W

G
\9

12
70

0S
10

1.
dw

g 
-  

Ju
l 1

0,
 2

02
4-

4:
22

 p
m

 - 
Ka

itl
yn

n 
C

 L
ew

is

12 W. Kennewick Ave.
Kennewick, WA 99336

P: 509.735.1589
F: 509.783.5075

www.meierinc.com

ARCHITECTURE   ENGINEERING

PO
R

T 
O

F 
PA

SC
O

TY
PI

C
AL

 W
AR

EH
O

U
SE

 C
AN

O
PY

BI
G

 P
AS

C
O

 IN
D

U
ST

R
IA

L 
C

EN
TE

R

 

9127
07/07/2023SECTION A

3/8" = 1'-0"

PL
AN

 A
N

D
 S

EC
TI

O
N

S

PLAN SINGLE SPAN CANOPY
1/4" = 1'-0"

SECTION B
3/8" = 1'-0"

PLAN AT CONCRETE FIRE WALL
1/4" = 1'-0"

KCL 07/07/2023

KEJ 07/07/2023

JTS 07/07/2023

KEJ 07/07/2023

1

1

1

1

1

1
1

C
O

N
ST

R
U

C
TI

O
N

 R
EV

IS
IO

N
S

1
7/

10
/2

4
KC

L
G

D
F

G
D

F
PM

G

1

1

1

1

PA

UL               M.               GIEVER

ST
ATE     OF     WASHINGTON

STRUCTUR A L   ENGINEER

PR
O

FESSIONAL    ENGIN
EE

R

28084

1
1 1

1

1

1

AutoCAD SHX Text
7/10/24



C10 EA SIDE
OF (E) COLUMN

C BEAML

W8x10

(E) COLUMN IN
WALL BEYOND

RAINWATER LEADER FROM
GUTTER BACK TO

BUILDING

W8x10

METAL SOFFIT
PANEL

1 
1/

2"

7 
7/

8"
1"

STANDING SEAM
METAL ROOF

(2) 3/4" BOLTS
EACH SIDE

3/16
3/16

3/16
3/16

3/8"x3 1/2"x6" PLATE

3" TY
P

1 
1/

2"
TY

P

1 1/2"

6"

1 1/2"

1/2"

C10 EA SIDEC BEAML

(E) COLUMN IN
WALL BEYOND

RAINWATER LEADER FROM
GUTTER BACK TO
BUILDING

W8x10

STANDING SEAM
METAL ROOF

METAL SOFFIT
PANEL

(2) 3/4" BOLTS

3/16
3/16

3" TY
P

1 
1/

2"
TY

P

1 1/2"

3/8"x3 1/2"x6" PLATE

6"

1 1/2"

1/2"

(E) BUILT-UP
COLUMN

3/8" PLATE

NEW BLOCKING
BETWEEN COLUMNS

3/8" PLATE

(E) METAL SIDING

CUT THROUGH
SIDING

3/16

BOLTS PER 1/S501

4"

3/16

(E) 2x6(E) 2x6

(E) WOOD SIDING

3 1/2"

5 1/2+/-

2 1/2"

5 1/2"+/-

3 1/2"

NOTE:
NOTCH EXISTING 2x WALL FRAMING AS
REQUIRED FOR SQUARE WASHER INSTALLATION
FLUSH WITH COLUMN MEMBER

(E) BUILT-UP
COLUMN

3/8" PLATE

NEW BLOCKING
BETWEEN COLUMNS

FOR METAL SIDING, CUT FOR
BEARING PLATE AND REFLASH
FOR WOOD SIDING PLACE
PLATE ON TOP OF SIDINGCUT THROUGH

SIDING

5/8"x6" LAG SCREWS
PRE-DRILL HOLES

CHANNEL OR
WIDE FLANGE
PER PLAN

(E) 2x6
(E) 2x6

3/16

NOTE:
NOTCH EXISTING 2x WALL FRAMING AS
REQUIRED FOR SQUARE WASHER INSTALLATION
FLUSH WITH COLUMN MEMBER

3/16

2 1/2"4"

(4) 1" DIA
THROUGH BOLTS

3/8"x9"x29" PLATE

(E) BUILT-UP COLUMN

C/S501

2 1/2"

1 1/4" THREADED ROD BRACE
WITH #3 CLEVIS

(E) SIDING

4" 6 1/2" 5"

C10

(E) COLUMN BLOCK BETWEEN BUILT
COLUMN GAPS AT  NEW CONNECTION
REPLACE BLOCKING AS NEEDED FOR

INSTALLATION OF NEW PLATES

STANDING SEAM
METAL ROOF

W8x10

D/S501

3/16

(6) 5/8"x5" LAG SCREWS
(3) ON EACH COLUMN

PRE-DRILL HOLES IN WOOD

3/8"x12"x20" PLATE

1'
-4

"

6"

2 
1/

2"
2 

1/
2"

1 3/4"1 3/4"
6 1/2" 5"

4"

C10

RAINWATER LEADER

FLASH/SEAL DECKING
AT PENETRATION

1 1/4" THREADED ROD BRACE

#3 CLEVIS WITH 1 1/4" PIN
AND LOCK NUT

3/8"x6" PLATE WITH
3" RADIUS ON CLEVIS SIDE3/16

3/16

L4x3x3/8

L4x3x3/8

1/2" PLATE

5"
MIN

4"

4"
4"

1 1/2"

TYP

THREADED ROD
BRACE

(6) 3/4"x5" TITEN HD
ANCHORS

(E) 10" CONCRETE WALL

FLASH/SEAL SIDING
AT ROD PENETRATION

3"

R3 1/2"
#3 CLEVIS WITH

1 1/4" PIN

STEEL BEAM PER PLAN

(E) CONCRETE CORBEL

3/16
3/16

3/8"x8"x6 1/2" PLATE
CENTERED ON BEAM

INSIDE CHANNEL FLANGES

CHIP DOWN CORBEL TO
CLEAR BEAM IF
NEEDED

(3) 3/4"x6 1/4" TITEN HD
ANCHOR ON EACH
SIDE OF BEAM

1"
3"

3"

5"

1 1/2"

SIDE OF
CONCRETE WALL

1"

C10

GUTTER

10"

CUT NOTCH IN
C10 FOR GUTTER

RAIN WATER
LEADER

3/16
3/16

DOUBLE C10

NOTE:
AT CONTRACTOR'S OPTION, PERIMETER C10 CAN BE BOLTED TO
DOUBLE C10 SUPPORT WITH 3/8" PLATE AND (2) 5/8" DIA. BOLTS.

SE
C

TI
O

N
S 

AN
D

 D
ET

AI
LS

S501
AS INDICATED

2

KCL 07/07/2023

KEJ 07/07/2023

JTS 07/07/2023

KEJ 07/07/2023

SECTION
3/4" = 1'-0"

A
REF: S101

SECTION
3/4" = 1'-0"

B
REF: S101

SECTION
1" = 1'-0"

C
REF: S501

SECTION
1" = 1'-0"

D
REF: S501

DETAIL
3/4" = 1'-0"

1
REF: S101, S102, S501

DETAIL
Custom

2
REF: S102, S501

DETAIL
3/4" = 1'-0"

3
REF: S101, S501

DETAIL
3/4" = 1'-0"

4
REF: S101

DRAWN

DESIGN

SCALE:

ISSUE DATE:

APPROVED

CHECKED

APPROVAL

AP
PD

DE
SI

GN
CH

KD
DR

W
N

R
EV

IS
IO

N
S

N
O

.
D

AT
E

REV.JOB No.

DWG. NO.

\P
R

O
JE

C
TS

\9
10

0\
91

27
 P

or
t o

f P
as

co
 C

an
op

ie
s\

D
W

G
\9

12
70

0S
50

1.
dw

g 
-  

O
ct

 2
9,

 2
02

4-
12

:3
9 

pm
 - 

Ka
itl

yn
n 

C
 L

ew
is

12 W. Kennewick Ave.
Kennewick, WA 99336

P: 509.735.1589
F: 509.783.5075

www.meierinc.com

ARCHITECTURE   ENGINEERING

PO
R

T 
O

F 
PA

SC
O

TY
PI

C
AL

 W
AR

EH
O

U
SE

 C
AN

O
PY

BI
G

 P
AS

C
O

 IN
D

U
ST

R
IA

L 
C

EN
TE

R

 

9127
07/07/2023DETAIL

3/4" = 1'-0"
5

REF: S102

DETAIL
3/4" = 1'-0"

6
REF: S101

DETAIL
3/4" = 1'-0"

7
REF: S101,S102

DETAIL
3/4" = 1'-0"

8
REF: S101, S102

1 1

1

2

1

1

C
O

N
ST

R
U

C
TI

O
N

 R
EV

IS
IO

N
S

1
7/

10
/2

4
KC

L
G

D
F

G
D

F
PM

G
PA

UL               M.               GIEVER

ST
ATE     OF     WASHINGTON

STRUCTUR A L   ENGINEER

PR
O

FESSIONAL    ENGIN
EE

R

28084

NOT USED

2
NOT USED

R
EM

O
VE

D
 D

ET
AI

LS
 2

 A
N

D
 5

2
10

/2
9/

24
KC

L
G

D
F

G
D

F
PM

G

AutoCAD SHX Text
10/29/24



3"

3/8"x6" PLATE

BRACE ROD

#3 CLEVIS WITH 1 1/4" PIN

BEAM PER PLAN
3/16

3-SIDES

4"

MIN

#2.5 CLEVIS WITH
3/4" PIN

1'-6"
1'-0"

4"

3/16
3/16

CHANNEL PER PLAN

3/8"x18"x7"
PLATE

3/16

ON BOTTOM OF CHANNEL

C10

#2.5 CLEVIS WITH
3/4" PIN

L3x3x3/16 BRACE

W8

C10 W8
L3x3

3/16

ROD BRACE

 

3x8x3/8" PLATE WITH
(2) 5/8" DIA. BOLTS
AT 6" C/C

5"

1 
1/

2"

3"

3/16

BEAM PER PLAN

#2.5 CLEVIS
WITH 3/4" PIN 3/16

3/16

3/8"x5"x6" PLATE
ON BOTTOM OF CHANNEL

C10

W8

C10

W8

METAL ROOFING METAL ROOFING

ANGLE CLEAT ANGLE CLEAT

CUSTOM RAKE FLASHING PER
ROOFING MANUFACTURER'S
STANDARD DETAIL

RAKE OFF MODULE RAKE ON MODULE

12" MAX.

2"

CLIP WITH (2) #10-16x1" PH DRILLER

DOUBLE BEAD TAPE SEALANT

Z FLASHING-DOUBLE BUTYL TAPE TOP, BOTTOM, SIDES
1/4"-14x7/8" STITCH XL (8" C/C)

CLIP-LOC PANEL

(E) SIDING, CONTRACTOR TO CUT SIDING
AT AREA OF NEW CANOPY TO RECEIVE FLASHING
CONTRACTOR TO ADD BOTTOM BASE TRIM AT (E)
MIRAMAC METAL SIDING

CLIP-LOC PITCH BREAK W/TURNDOWN OF MANUFACTURER'S DETAIL

SE
C

TI
O

N
S 

AN
D

 D
ET

AI
LS

S502
AS INDICATED

2

SECTION
1" = 1'-0"

A
REF: S101

SECTION
1" = 1'-0"

B
REF: S101

SECTION
1" = 1'-0"

C
REF: S101

SECTION
1" = 1'-0"

D
REF: S102

SECTION
Custom

E
REF: S102

SECTION
1-1/2" = 1'-0"

F
REF: S101

SECTION
1-1/2" = 1'-0"

G
REF: S102

SECTION
1-1/2" = 1'-0"

H
REF: S102

SECTION
1-1/2" = 1'-0"

J
REF: S101

DETAIL
1" = 1'-0"

 1
REF: S102

DRAWN

DESIGN

SCALE:

ISSUE DATE:

APPROVED

CHECKED

APPROVAL

AP
PD

DE
SI

GN
CH

KD
DR

W
N

R
EV

IS
IO

N
S

N
O

.
D

AT
E

REV.JOB No.

DWG. NO.

\P
R

O
JE

C
TS

\9
10

0\
91

27
 P

or
t o

f P
as

co
 C

an
op

ie
s\

D
W

G
\9

12
70

0S
50

2.
dw

g 
-  

O
ct

 2
9,

 2
02

4-
12

:3
7 

pm
 - 

Ka
itl

yn
n 

C
 L

ew
is

12 W. Kennewick Ave.
Kennewick, WA 99336

P: 509.735.1589
F: 509.783.5075

www.meierinc.com

ARCHITECTURE   ENGINEERING

PO
R

T 
O

F 
PA

SC
O

TY
PI

C
AL

 W
AR

EH
O

U
SE

 C
AN

O
PY

BI
G

 P
AS

C
O

 IN
D

U
ST

R
IA

L 
C

EN
TE

R

 

9127
07/07/2023

KCL 07/07/2023

KEJ 07/07/2023

JTS 07/07/2023

KEJ 07/07/2023

NOT USED

1

1

2

C
O

N
ST

R
U

C
TI

O
N

 R
EV

IS
IO

N
S

1
7/

10
/2

4
KC

L
G

D
F

G
D

F
PM

G
PA

UL               M.               GIEVER

ST
ATE     OF     WASHINGTON

STRUCTUR A L   ENGINEER

PR
O

FESSIONAL    ENGIN
EE

R

28084

R
EM

O
VE

D
 D

ET
AI

L 
1,

 A
N

D
 S

EC
TI

O
N

S 
E,

 G
, H

2
10

/2
9/

24
KC

L
G

D
F

G
D

F
PM

G

NOT USED

2

NOT USED

2

NOT USED

2

NOT USED

2

2

AutoCAD SHX Text
10/29/24



C10

STANDING SEAM
METAL ROOF

W8x10

C/S503

3/16

HSS 10x8x1/4

3/8"x12"x13" PLATE

6"

2 
1/

2"
2 

1/
2"

1 3/4"1 3/4"
1/2"x16"x9" PLATE

PROVIDE BLOCKING
AT CONNECTION
FIELD VERIFY

(4) 5/8" DIA.
THRU BOLTS

10 3/4"
FIELD VERIFY

5"

1/4
TYP

1'
-1

0"

9"

1'
-4

"

1 
1/

2"

1 1/2"

1 
1/

2"

(6) 5/8" DIA THREADED
STUDS PER 1/S503

(E) BUILT-UP COLUMN

(4) 3/8"x3"x3"
PLATE WASHERS

NOTES:
1. TEMPORARILY REMOVE (E) EXTERIOR SIDING AND SHEATHING AS

NEEDED, AT LOCATION OF CONNECTION, IN ORDER TO PERFORM
DRILLING OPERATIONS.

2. TEMPORARILY REMOVE OVERHEAD DOOR HARDWARE AS NEEDED
IN ORDER TO ASSEMBLE CONNECTIONS.

1'
-0

"

10
 3

/4
"

SE
E 

N
O

TE
 1

(E) HORIZONTAL 2x

(4) 5/8" THRU BOLT

(E) METAL SIDING

(E) WOOD SIDING

(E) 6x16 COLUMN

PROVIDE BLOCKING
AT CONNECTION
SEE NOTE 2

HSS10x8x1/4

3/8"x16"x9" PLATE

3/8"x12"x13" PLATE

CANOPY CHANNELS

NOTES:
1. FIELD VERIFY DIMENSION BEFORE FABRICATING NEW MEMBERS.

2. PERMITTED TO USE EXISTING BLOCKING IF ALREADY EXISTS.

(E) 2x6 VERTICAL STUD

(E) 2x6 VERTICAL STUD

(4) 3/8"x3"x3"
PLATE WASHERS

2 1/2" MIN
TYP

1/4"
TYP

HSS 10x8x1/4

3/8"x12"x13" PLATE

(6) 5/8" DIA
THREADED STUD

10
 3

/4
"

SE
E 

N
O

TE
 1

(E) METAL SIDING

(E) 6x16 COLUMN

PROVIDE BLOCKING
AT CONNECTION
SEE NOTE 21/2"x12"x7" PLATE

NOTES:
1. FIELD VERIFY DIMENSION BEFORE FABRICATING NEW MEMBERS.

2. PERMITTED TO USE EXISTING BLOCKING IF ALREADY EXISTS.

1/2"x9"x28" PLATE

1/4
1/4

(E) 2x6 VERTICAL STUD

(E) HORIZONTAL 2x

(E) 2x6 VERTICAL STUD

(4) 5/8" THRU BOLT

(E) WOOD SIDING

(4) 3/8"x3"x3"
PLATE WASHERS

2 1/2" MIN
TYP

1/2"x9"x28" PLATE

(E) BUILT-UP COLUMN

F/S503

1 1/4" THREADED
ROD BRACE

WITH #3 CLEVIS

(E) SIDING

1/2"x12"x7" PLATE

PROVIDE BLOCKING
AT CONNECTION
FIELD VERIFY

(4) 5/8" DIA.
THRU BOLTS

1'
-6

"4"

5"

10 3/4"
FIELD VERIFY

1/4
1/4

1 
3/

4"

7"
1 3/4"

1'
-0

"

(4) 3/8"x3"x3"
PLATE WASHERS

NOTES:
1. TEMPORARILY REMOVE (E) EXTERIOR SIDING AND SHEATHING AS

NEEDED, AT LOCATION OF CONNECTION, IN ORDER TO PERFORM
DRILLING OPERATIONS.

2. TEMPORARILY REMOVE OVERHEAD DOOR HARDWARE AS NEEDED
IN ORDER TO ASSEMBLE CONNECTIONS.

SE
C

TI
O

N
S 

AN
D

 D
ET

AI
LS

S503
AS INDICATED

1

MTD 7/3/2024

DTW 7/3/2024

PMG 7/3/2024

PMG 7/3/2024

SECTION
3/4" = 1'-0"

A
REF: S101

SECTION
3/4" = 1'-0"

B
REF: S101

SECTION
3/4" = 1'-0"

C
REF: S101

SECTION
3/4" = 1'-0"

E
REF: S101

SECTION
3/4" = 1'-0"

F
REF: S101

DETAIL
1-1/2" = 1'-0"

1
REF: S101

DRAWN

DESIGN

SCALE:

ISSUE DATE:

APPROVED

CHECKED

APPROVAL

AP
PD

DE
SI

GN
CH

KD
DR

W
N

R
EV

IS
IO

N
S

N
O

.
D

AT
E

REV.JOB No.

DWG. NO.

\P
R

O
JE

C
TS

\9
10

0\
91

27
 P

or
t o

f P
as

co
 C

an
op

ie
s\

D
W

G
\9

12
70

0S
50

3.
dw

g 
-  

O
ct

 2
9,

 2
02

4-
12

:3
8 

pm
 - 

Ka
itl

yn
n 

C
 L

ew
is

12 W. Kennewick Ave.
Kennewick, WA 99336

P: 509.735.1589
F: 509.783.5075

www.meierinc.com

ARCHITECTURE   ENGINEERING

PO
R

T 
O

F 
PA

SC
O

TY
PI

C
AL

 W
AR

EH
O

U
SE

 C
AN

O
PY

BI
G

 P
AS

C
O

 IN
D

U
ST

R
IA

L 
C

EN
TE

R

 

9127
07/07/2023

1'-1"

PA

UL               M.               GIEVER

ST
ATE     OF     WASHINGTON

STRUCTUR A L   ENGINEER

PR
O

FESSIONAL    ENGIN
EE

R

28084

R
EM

O
VE

D
 S

EC
TI

O
N

 B
1

10
/2

9/
24

KC
L

G
D

F
G

D
F

PM
G

NOT USED

1

AutoCAD SHX Text
10/29/24


